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Aufgabe 7.1

(a) x4 = 81

x4 = 34

x = ±3

(b) 2x3 = 250

x3 = 125 = 53

x = 5

Aufgabe 7.2

(a) x8 = 16

x8 = 24 =
√
2
8

x = ±
√
2

(b) x5 = 49
√
7 = 72

√
7 =
√
7
4
·
√
7
1

x5 =
√
7
5

x =
√
7

Aufgabe 7.3

(a) x5 = −243 = −35

x5 = (−3)5

x = −3

(b) x4 = −625 nicht lösbar in R

Aufgabe 7.4

(a) x5 = x4

x5 − x4 = 0

x4(x− 1) = 0

x1 = 0

x2 = 1

(b) x7 = 2x6

x7 − 2x6 = 0

x6(x− 2) = 0

x1 = 0

x2 = 2
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Aufgabe 7.5

(a) 52 · 55 = 5n+1

57 = 5n+1

7 = n+ 1

n = 6

(b) 79 : 7n−1 = 72n−3 · 74

710−n = 72n+1

10− n = 2n+ 1

9 = 3n

n = 3

Aufgabe 7.6

(a) 34 · 3n = 32

34+n = 22

4 + n = 2

n = −2

(b) 4 · 2n+1 = 163

22 · 2n+1 = 163

2n+3 = 163

n+ 3 = 3

n = 0

Aufgabe 7.7

(a) 82n−2 = 42n+4

(23)
2n−2

= (22)
2n+4

23(2n−2) = 22(2n+4)

26n−6 = 24n+8

6n− 6 = 4n+ 8

2n = 14

n = 7

(b) (10n)2 = (1010)
5

102n = 1050

2n = 50

n = 25
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Aufgabe 7.8

25n · 5n+1 = 125n+4

(52)n · 5n+1 = (53)
n+4

52n · 5n+1 = 53(n+4)

52n+n+1 = 53n+12

53n+1 = 53n+12

3n+ 1 = 3n+ 12

1 = 12

keine Lösung
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